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read3lots = 10 (M (\nt = Int = nt))

R Escola 6 dos 0. (6 A2pts)

wmt | Ger) - pue | @
fvap , jownn = (o)
fmap, Join - (=), pure

Funcor instance para um dos -
Umd Jwap que fespeita a lei de (o) was nao de {4

Sequence AL 1 RApplicakive § = List (f o) — { (List &)



Lk Jmep, 0 (d—>B) — (fax=f8

= splat, a(u—»ﬁ’:\ —7 laax—~2a8B
g { 56 (&> wB) > (v

(»=.) - \v\on—»(ot—»\v\\%) —> m§

™ (m (x) —> m
return,, = pure, . ®K —> 4 o
, (=) (=>mpBY = (B >my) —> (ot = my)
{ (=) (B >m3) = (x>mp) = (X =>my)

(»m) (%a) . ag —~ ap —> a Y&
Vo'\d\)c ; foa = {1
unib, + n ) i, L = w ()

K - ool > B > o laxB) o), (val x nB) = n (axp)



